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Losungen / Statistik 1/08

Rermove["d obal ™ %" ]

<< Statistics DescriptiveStatistics’;
<< Statistics DataMani pul ation’;
<< Graphi cs” Gaphics’;

a P(X<=x):=di(x)

di[x_]1:=0; d2[x_]:=x/((2Pi); d3[x_]1:=1;

b
F[x_]:=d1[x] /; x<O0;
FIx_1:=d2[x]/;, 0<=x<2Pi,
F[x_1:=d3[x] /; 2Pi =<x;
Pl ot [F[x], {x, -2, 8}1;
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c f(x)=F'(x)
f[x_]:=(Evaluate[D[d1l[t], t]]1 /.t >X)/; Xx<O0;
f[x_]:=(BEvaluate[D[d2[t], t]]1 /.t >X) /; O0<=Xx<2Pi;
f[x_1:=(Evaluate[D[d3[t], t]1]1 /.t >x)/; 2P <x; {f[-11, f[2], f[8]}
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Pl ot [f [x], {X, -1, 9}1;
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Renove [f ]

Integrate[k = x, {x, 0, 2}]

2k

s =Solve[lntegrate[k = x, {x, 0, 2}]1 =1, {k}] //Flatten

ko 3]

f[x_1:=0/; x<0;
fIx_1:=x/2 /; 0<=Xx<2;
f[x 1:=1/; 2<X;

Pl ot [f [x], {X, -2, 4}1;
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Cc
Rernove [F]
FIx_1:=0/; x<0;
F[x_]:=Integrateft /72, {t, O, x}] /; 0<=x<2;
FIx_1:=1/; 2<x;
Plot [F[X1, {x, -2, 4}1I;
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Renove[f, F, k, x]
Integrate[k = x, {x, -1, 1}]

0

kl=2, k1% x

2 X

Pl ot [k1+ x, {x, -1, 1}7];
2,

216
Sol ve[lntegrate[k = x, {x, -1, 1}] =1, {k}]
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Integral=1 nicht erfiillbar / Integral=1 ne pas possible

Renove[f, F, k, x]

fil[x_1:=0;
f2[x_1:=c¢c E™ (-aXx);
Integrate[f2[x], {X, O, Infinity}]

clf[Refa] >0, %, Integrate[e?@X, {x, 0, o}, Assunptions - Re[a] <0]]
f2[x_]:=Re[c] E" (-Re[a] X);

Integrate[f2[x], {X, O, Infinity}]

I'f [Re[a] >0, ﬁ, Integrate[e™®@, (x, 0, »}, Assunptions-Re[a] <0]]| Re[c]

Integrate[f2[x], {x, 0, b}] // Expand

Re[c] ePRIlal Re[c]
Re[a] ~ Re[a]

al = (Expand[Integrate[f2[x], {x, O, b}1]1 /. {bRe[a] »Infinity})

Solve[c/a==1, {C}]

{{c-a}}

a0=1/2
f21[x_]1:=a0 E” (-a0x);

fIx_1:=f1[x]/; x<0;

fIx_1:=f21[x] /; X >=0;
Pl ot [f [x], {X, -2, 5}1;
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Integrate([f2l[x], {x, 0, Infinity}]
1
Fix_1:=f1[x] /; x<0;

F[x_]:=Evaluate[lntegrate[f21[t], {t, O, x}]]1/; x>=0;
Pl ot [F[x], {X, -2, 10}1;
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